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1. For the circuit shown in Fig. 1. Calculate the power delivered by the dependent
voltage source. (10%)

4002 1k€2

2.5mA e 150i,

Fig. 1

2. The switch in the circuit seen in Fig. 2 has been closed for a long time. The switch
opens at t = 0. Find the time constant for the circuit when t > 0. (10%)
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3. The natural voltage response of the circuit in Fig. 3 1s v(f) = -5¢72090 | 90200y

When the capacitor C= 0.05uF, determine the numerical value of R. (10%)

4. Find the value of impedance parameter z;; of the two-port circuit shown in Fig. 4.
Where impedance parameters are defined as
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5. The transformer in the circuit shown in Fig. 5 is 1deal.
(a) Find the value of output voltage V,,.

(b) Find the average power associated with the voltage source. (20%)
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6. The OP amp 1n the circuit shown in Fig. 6 1s 1deal and operates within its linear range.
(a) Find the numerical expression for the transfer function H(s) = V,(s)/Vs(s).

(b) If vy = 0.4u(t)V, find v,(). Where u(¢) is the unit step function. (20%)
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7. The four circuits in Fig. 7 are passive filter constructed by RLC elements.

(a) Which 1s the high-pass filter? Explain why.
(b) Which is the band-pass filter? Explain why. (20%)
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